Name: Date: Unit 7 Class Work

Solving ions Involving L ithms Class Work

3/ Objective: You will be able to solve equations involving logavithms.

+ Property of Equali

Property of Equality: In geneval, if [oggx: [ogﬁy, then ZS T% 1

Example 1: Solve for x.
log13(2x — 5) = logq3(3x + 1)
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*Something interesting happens with this solution...what do you 1h|nk”"’ Q.r U m'é

Example 2: Solve for x. *Stvategy
logs(3x) — logs12 = logs(x - 2)
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# Practice: Solve for the variable in each equation. Remember to check that your solutions are valid.

1. logs(3z + 1) = logs(6z - 8) 2. logy(4w) — log,8 = logy(6w - 1)
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9. In@x+3)=7 10. In(2x—3)’=8

For Fun!

A. Create a logarithmic equation in which the solution is x = ° — 3.

B. Create a logarithmic equation that can be solved using the equation 3x° + 12x—8 =0
C. Create a logarithmic equation that has no real solution.

D. Create a logarithmic equation that can be solved using the equation 3'° =

*Be sure to explain your reasoning for each! © Have fun!

Exit Slip Problems:
1. Solve for x. Be sure to identify whether each solution is valid or extraneous.

a. In(3x) + In(2x — 6) = In(60) b. logy(4) + logy(3x+1) = log,(20)
2. Write the quadratic equation that could be used to solve logs(2m) + logs(m + 6) =3

3. a. Solve for n: logs(5x) + logs(8) =logs(2x-1) b. Solve forw: In(dw + 3)=2

Homework:

& Part 1: Solve for the variable in these 5 problems.

1. logs(2z - 9) = logz(4z + 9) 2. logy(8w) — log,7 = logy (2w - 5)
3. logs(x? - 10) = logs(15) 4. In(3x) +In(x—=7) = In3

5. logis(2c) + logss(c — 8) = logs510

& Part 2: pages 456459 # 33-47 odd, 101, and 103

& Part 3: page 465 #14-19

& Throwback: page 460 #116-124 and 127
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